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Eil & ] B R LR R LR FALLR FALLR FALLR FALLR FALLR FELLR FELLR
Eil = X 2 BRAE BRAE BRAE BRAE BURAE BRAE AE BRAE

H#HF # F o B & EHF EHF EHAF EHAF EHAF EHAF EHF
® A B ® Z Dt Z Dt — R Z Dt HERAK HERAK — R A

T HFORS 2.8 5.9 1.0 ] 6.4 5.5 3.8 ] 5.1 T ]

# ) F A =] FA304£10A318 FA304£10A318 FAR304£10A318 ERL30E10A318 ERL30E10A318 304108258 304108258 304108248 FR304107248 FR30410A258 FR30410A258

S gt 17.0 18.0 15.0 18.2 16.4 19.9 18.2 16.4 19.9 18.2 19.1

& # : 4 >30 >30 >30 >30 >30 >30 >30 >30 >30 >30 >30

p H 6.7 6.8 6.9 6.4 6.4 7.2 6.1 6.4 6.8 6.7 7.1

BERE®E (mS/m) 28.1 20.9 15.8 20.6 17.8 24.4 15 25.3 12 43.8 26.3
H Foo= [ZENN (mg L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003

£ >4 7 b4 (mg./ L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.

i (mg L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005

A i v B LA (mg./ L) <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02

[ ES (mg L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
L “ X i (mg./ L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
7 oL F L oK R (mg L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
KYUKFEiEZ7=)L| (g L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
D22 =T = R S (mg L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
moE e R R (mg./ L) < 0.0002 < 0.0002 < 0.0002 <0.0002 <0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
BEiEE=ZLE/ T —| (M L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
® 12— mnnzxT4y| (mg/L) < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
1=y mRITFLY| (ML) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
12—-Ysnn0xFLy| (g L) < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
Lii—rysBaRITEY| (MGL) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
11.2—rysBBITR Y| (ML) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006

5 U BRITFLY| (L) < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
Fr0BITFLY| (g L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1.3—Y9nRJaxRy| (mg/L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
F 7 7 N (mg./ L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
>4 < o v (mg./ L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FAR AL T (mg./ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002

B ~ P 4 v (mg” L) < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.00
+ v v (mg./ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
HEEERRUEMBEEER| (ig/L) 4.5 0.45 1.5 3.6 4.1 2.4 1.8 6.3 0.9 3.6 1.5

A ) ES (mg./ L) 0.16 0.12 0.13 <0.08 0.21 0.45 <0.08 0.12 0.1 0.3 0.14

[£3 5 ES (mg./ L) 0.05 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03

1.4 — 2 4 % 4 (mg./ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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E:l E i) " ] BERNER HRTTEER Rt HETTA MR B RETRSRIE BERANEE EBRETE BLHER=F BLH R RES FA LT 1
i - # B LR LR LR LR LR FALLR FELLR
Eil = X 72 BRAE BRAE BRAE BRAE BURAE BRAE BRAE
H#F # F o B & ] EHF EHF EHF EHF EHF EHF
® A BE M — R HERAK HERK EFEMAK EFEMAK Tt HEFERAK
T HFORS 4.4 T 5.2 EN:] 3.3 5.1 ENC] EN] T T
® 4 F A B Fr304£10A258 20184510 A 248 Fr304£10A238 FR304£10A238 FR304£10A228 FR30E10A228 FR30E10A228 FR30E10A228 FHR30F4A 168 FR30F4A 168 FR30F4A 168
K - 18.0 16.2 18.0 16.5 14.9 19.0 16.8 22.7 15.0 15.0 19.0
& # E >30 >30 >30 >30 >30 >30 >30 >30 - - -
p H 6.8 5.8 5.8 5.9 7.2 6.4 7.3 6.6 - - -
ERfEHE (mS./m) 13.2 13.5 7.4 22.8 28.7 19.6 12.4 20.2 - - -
bl r 2 [ZENN (mg L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
£ >4 7 b4 (mg./ L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. <0.1 <0.1 <0.1
i (mg L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
A i v B LA (mg./ L) < 0.02 <0.02 <0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02
[0 ES (mg L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
L “ X Ficd (mg./ L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
7 oL F L oK R (mg L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. < 0.0005 < 0.0005 < 0.0005
RKUBEBiE Z=L (mg./ L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. < 0.0005 < 0.0005 < 0.0005
DS/ 2N =N = I A (mg L) 0.004 <0.002 <0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
m & ok R E (mg./ L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
BElEE=ZLE /) T — (mg L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
= LB/ = R = R S (mg./ L) < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
1M1= BEITFLY| (L) <0.002 <0.002 <0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2—-Y%9mBpITFLy| (g/L) < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
Lii—rysBaRITEY| (MGL) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
11.2—rysBBITR Y| (ML) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
5 Y BBDITFLY (mg/ L) < 0.001 <0.001 <0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
Fr0BITFLY| (g L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
183—Ysmmn7axy| (m L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
F > > FN (mg./ L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
>4 < o b4 (mg/ L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
F AR Y AL T (mg./ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
B ~ P 4 > (mg” L) < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
t 2 2 (mg./ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
WHMERRUEMWBEER| (g L) 0.72 0.55 0.66 5.4 0.50 0.26 0.17 0.7 0.3 1.6 < 0.03
A ) ES (mg./ L) 0.25 <0.08 <0.08 < 0.08 < 0.08 < 0.08 0.88 0.21 0.16 0.09 0.91
[£3 5 * (mg./ L) <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 0.05 <0.03 <0.03 < 0.03 0.59
1.4 — 2 4 % 4 (mg./ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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i - # B LR LR LR LR FALLR FALLR
Eil = X 72 BRAE BRAE BRAE BRAE BURAE BRAE
H#F # F o B & EHF EHF EHF EHF EHF EHAF
® A B ® HERAK HFERAK KK HERK HERAK HERAK
T HFORS ] ] ] 20 6 T8 5.0 5
® 4 F A B FR30EF4R16E FRE30EF4R16E FR30EF4R16E FR304£10A298 FR304£10A298 FR30E10A298 FR30E10A298 FR30E10A298 FR30E10A298
K - 15.0 15 14.0 20.3 21 19 19.5 18.2 22
& # E - - - >30 >30 >30 >30 >30 >30
p H B - - 6.7 6.3 1.5 6.4 7 1.2
ERfEHE (mS./m) - - - 29 14 70 16. 000 61 36
bl r 2 [ZENN (mg L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
£ >4 7 b4 (mg./ L) <0.1 <0.1 <0.1 N.D. N.D. N.D. N.D. N.D. N.D.
i (mg L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
A i v B LA (mg./ L) <0.02 < 0.02 <0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02
[0 ES (mg L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
L “ X Ficd (mg./ L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
7 oL F L oK R (mg L) < 0.0005 < 0.0005 < 0.0005 N.D. N.D. N.D. N.D. N.D. N.D.
RKUBEBiE Z=L (mg./ L) < 0.0005 < 0.0005 < 0.0005 N.D. N.D. N.D. N.D. N.D. N.D.
DS/ 2N =N = I A (mg L) <0.002 <0.002 <0.002 < 0.002 <0.002 < 0.002 < 0.002 < 0.002 < 0.002
m & ok R E (mg./ L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
BElEE=ZLE /) T — (mg L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
= LB/ = R = R S (mg./ L) < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
1M1= BEITFLY| (L) <0.002 <0.002 <0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2—-Y%9mBpITFLy| (g/L) < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
Lii—rysBaRITEY| (MGL) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
11.2—rysBBITR Y| (ML) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
5 Y BBDITFLY (mg/ L) < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
Fr0BITFLY| (g L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
183—Ysmmn7axy| (m L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
F > > FN (mg./ L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
>4 < o b4 (mg/ L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
F AR Y AL T (mg./ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
B ~ P 4 > (mg” L) < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
t 2 2 (mg./ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
WHMERRUEMWBEER| (g L) 1.7 0.9 0.93 1.3 1 0.37 1.5 4.5 0.15
A ) ES (mg./ L) 0.21 0.29 0.2 0.13 0.16 0.24 0.19 1.5 0.15
[£3 5 * (mg./ L) 0.05 0.14 <0.03 0.06 <0.03 0.16 0.05 0.08 0.09
1.4 — 2 4 % 4 (mg./ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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& 5 13 17
* Y v a & 5 D-06 Q-09
il E i = £ HRTTFELER B R ETHSREI B
3 = # B LR
Bl = = b BRAE
H#PE #F OB B kL
[} = B B W —h&eRA
T HFFORSES (m) B 5.1
® b4 F A B FRI0E10H 248 FRR30E10A228
ES B 16.2 18.9
& #® -3 >30 >30
p H 5.8 6.1
ESEHE (mS./m) 13.5 16.8
/20 = R = R SR N (mg/ L) < 0.006 < 0.006
E(1,2-Y49 B R0 7Aa/xXY (mg/ L) < 0.006 < 0.006
[ = I = BRI (mg/ L) <0.02 <0.02
4 v F ¥ F F v (mg/ L) < 0.0008 < 0.0008
g 4 7 T 7 b2 (mg/ L) < 0.0005 < 0.0005
& 72 . = b B F F v (mg/ L) < 0.0003 < 0.0003
4 v 7 B FLFr 5 v (mg/ L) < 0.004 < 0.004
* * > b4 il (mg/ L) < 0.004 < 0.004
Y m A 2 B = L (mg./ L) < 0.004 < 0.004
% J B E # = r (mg/ L) < 0.0008 < 0.0008
E P N (mg/ L) < 0.0006 < 0.0006
> 4 8 L K R (mg/ L) < 0.001 < 0.001
2z / 7 Hh L T (mg/ L) < 0.002 < 0.002
bt 4 7 B X v K R (mg/ L) < 0.0008 < 0.0008
B )L=+tBa 7T v (mg./ L) < 0.0001 < 0. 0001
~ 2 T M (mg/ L) < 0.06 < 0.06
* > [ b4 (mg./ L) <0.04 < 0.04
B|2ALBSITFLAFY L (g L) < 0.006 < 0.006
= v T /2 (mg./ L) < 0.005 < 0.005
£ Y 7 7 b4 (mg./ L) <0.01 <0.01
7 v F £ z (mg./ L) < 0.002 < 0.002
I EY B8 A kE Ry Y (mg./ L) < 0. 0001 < 0. 0001
S < b4 # z (mg./ L) <0.02 <0.02
7 2 v (mg./ L) < 0.0002 < 0.0002




2 1 2 3 4 5 6 7 8
A v v o= #F 5 F-15 D-19 L-17 M-17 Q-19 L-22 1-20 -19
WoE B R A SRR JERH R TSR | R | BRI | ABRRAE | AmeER e | AT
G = [ ] % [i] (L1 % ] L7 [ PL1 B [ PL1 B [ {L1 5% [ {L1 5% [ LU [ L
B # X 5 Mk A Mk A kR AR A kR AR A kLR A kR AR A kR AR A Ak AR A
FHFA HF o B Rk EIF W ezl ezl H EIF H il
2] i M OB ERETEVN EREDTEVN EROEVN EROEVN EROIEVN EROIEVN EROIEVN AT K
#it Ao ®ES (m) 5.0 H RH 9.0 8 FH FH R
f22 Jiid F A B} T-Rk30476 7128 A FAB04E10H 24 A T-Rk30476 7128 A FAB04E10H 25 A FRB04EE A 14 H FRB04EE A 14 H FAB04EE A 14 H FRB04ELA 23 F FAB04E1A 23 F FRB04E1H 23 F
K bl 20.0 196 21.2 180 14.8 16.4 15.0 13.7 12.6 14.1
% B i 4 >30 >30 >30 >30 >30 >30 >30
p H 6.8 6.7 6.9 6.8 - - - 6.6 73 59
A E % (mS/m) 238 27 199 248 - - - 0.023 0.039 0.037
oK 3 v a0 (mg/L)
£ v 7 v (mg/ L)
EA (mg/ L)
AN T = S (mg/ L)
[ H# (mg/ L)
L w® & s (mg/L)
7o % ok ) (mg/L)
KUY 7 =1 (mg/ L)
Y 7 mom A % v (/L) <0.002 <0.002 < 0.002
woo e ok % (mg/L) <0.0002 <0.0002 <0.0002
it =1/ ~— g/ L) <0.0002 <0.0002 <0.0002 <0.0002
* L2—Y 27 aa=sr (mg/L) <0.002 <0.002 <0.002 <0.002 <0.002
L1—-vYZwvapxF Ly (mg/ L) <0.002
L2—vYZ7uma=F L (g L) 0.003 0.007 0.004 <0.004 <0.004
LLl—RhUZwmwaxky (mg/L) < 0.0005 < 0.0005 < 0.0005
LL2—hVUzmax=2y (g L) <0.0006 <0.0006 <0.0006
5 Y ZBBa=xF Ly (g/L) 0.001 0.003 0.03 0.032 <0.001
FhF27mrxF Ly (g L) <0.0005 <0.0005 0,037
L,3—vY27wvu7sa~y (mg/L) < 0.0002 < 0.0002 < 0.0002
¥ 4 7 PN (mg/ L)
v o= DA (mg,/' L)
F oA X v o T (mg/L)
H ~ v (mg/L) <0.001 <0.001 <0.001
+ v v (mg/ L)
T e 4 28 S R OV AR 26 (g /1) 10 41 6.1 2.3 9.7
EN - # (mg/ L) 1.2
12 5 ES (mg/ L)
L4 — ¥ A4 ¥ ¥ v (mg/L)

1%
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